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i Sx| i X Y x|
FLOZE 4,800 [FRO.L» 3,100 [#ROE& 42,100
HOE 10,000 [RO= 1,800 |[#£OFH 2,000
Ot 1,500 | RO 25,000 |#ROEE 65,120
FOE 6,000 [ZOHE 1,200 |#RORE 6,000
FOH 3,600 |EOH 24,000 [#ROE 6,000
O 100 [BEOZ 500 |#ROEE 1,000
EOF 200 | O 500 [#RO%H 200
HOE 400 2O 10,000 |#ROE 21,200
TTORREE 2,226 | ZEOH 10,000 |#RO# 1,000
A O 24,000 |ZEOHN 4,800 [#RO 2 1,000
i OFE 500 |02 5,000 [#ROF 100
£OfE 5,000 [FO% 500 |BROJE 500
SO 56,000 | 2O 2,000 |BROZE 538,395
BOE 20,000 |ZO#T 3,600 |BRO4H 24,000
SO 200 |HOZ% 500 |BROE 6,000
RO 27450 Oz 4,000 |#kO. . 100,000
BOE 1,000 [frO% 3,100 [FEO%E 500
SO 5,000 [HO% 6,000 |ZOn 500
R20OZ ZO# 1,000 [E O 1,000 [0 B 6,000
ROZ ZOBR0OFE 1,800 [HOHE 1,200 [jO%& 500
BEO# 1,000 |[EOA 3,000 [HEO%ZE 25,000
EO%E 102,000 |#ROH 5,000 [HEO# 1,000
= O 1,000 |#RORA 6,000 O 124,955
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HOE 10,000 |FBOHH 3,600 B2 O 2,200
SBOR 6,500 |FEOH 500 [FOM 80,000
2O 18,000 |BROAR 1,000 |EOLE 23,600
WOrT 24,000 |FROZE 14,400 |= 08 36,000
HOT 1,000 |PRO*% 2,000 |E=0OZ= 500
thOZE 24,000 [FROFE 2,000 |E=OH 1,945
=0 600 |PROZ 11,000 [EHOH- 8,133
=0 400 |BECOMA, 4,500 |F=OH 57,700
FEOME 50,000 |BR O 1,000 |E O 27,864
ROT 3,000 RO 16,500 |Z= OME 2,700
HROH 4,500 |BROZS 500 [EHO#H 12,000
SROAD 3,000 |PROZE 2,500 |E=O%F 5,000
ROWs 300 [FROH 1,000 [F=O®H 18,000
RO 3,000 |FROER 1,000 |E=O%E 18,000
OB O 5.500 [BRO & 600 |E= O 3,000
FOE 2,000 |BEROEE 50,000 |E=OAY 500
ST O%E 4,400 |BRO%H 12,000 |z=O#% 6,000
FFOB 1,500 [FROHE 4,500 |=OHF 4,000
ST O 600 [FROH 1,500 |E=O= 2,000
O 3,000 |PROTEE 1,200 [#5OF] 100,000
HO(E 20,000 [FROE 1,000 [#5OZ 500
FOW; 24,000 |52 OAfT 24,000 |#OHE 1,000
FOF 2,000 |8 O#h 5,000 [#HOH %07t 2,000




4 S| %4 EHH %44 SHE
BOH #50% 4,000 [EBOJI] 6,000 [BEOZE 2,000
BOHE 50O 4,000 [EFOLE 8,000 |0 AL 3,852
BOH 3,600 |EFOH 100,000 |&§ 22 i 2,500
BO® 5,000 [BEFOE 3,000 |FE A 36,106
O 1,000 [EFOZ 4,500

HEO® 9,000 [EROFS 2,000

BEOF 7,200 [EROEE 3,000

BEOE. 300 |EBO L 2,900

BO% HO7t 4,000 [EOH, 1,200

BOk HO% 4,000 [EEOE 3,600

BEO% %O 4,000 [FEOE 500

ZIO% 300,000 |#EOH #O# #OIx 400

B0 12,000 [FEO%E 500

E [ @)= 15,000 [FEOR FEOEY) 1,200

FHOE 20,100 [ OF & 3,000

EOU 1,000 [ O 6,000

EOH 36,759 |E8 O 1,000

EOME 3,000 [BEOZE 2,000

2O 2,000 |ERORE 1,000

ZOR 3,000 [BRO® 10,000

#OEB 10,000 |Ex O 100

2O 200 |ERO% 50,000

@)= 1,000 [EO 10,000
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13 R R BT B
RNENETRA IR AE] 210,000
=B NER=Er] ian 25,000
EaEt ENEEAIRAE 3,600
B B R R (i A PR ] 60,000
RAS B PERE T A PR A ] 400,000
fr A AR A ] 100,000
ISR A PR H] 120,000
HNE G R 3,200
MEEAAMERH 2= e 20,000
MEE NP EEAEBCE S 22,000
A EA N DI EE E 0 75,000
METENAEE BN T 20,000
MEEANAEESE 100,000
METENEREESE 200,000
MEE NEE SO S & 1,000,000
P EE N EEEE DR E 600,000
METENEFIEERATE 50,000
MEE NS BUE SR EE RS S 455,680
METENZILHZ Ot RS S 50,000
P ZE M R SRR T 2R L H N\ A (SRt e A 60,000
(o7 B P {3 A PR A 15,000
= R A IR 90,000
= R B O A IR A H 60,000
R FEBLSE A PRV E] 12,000
ZERE AR E] 2,500
IR G PR AR E] 180,000
o EREATRAE] 1,500
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